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The Census conducted in 1881 recorded 2. 
migration data on the basis of duration 
of residence.
Information regarding the reasons for 3. 
migration was fi rst incorporated in the 
2001 census.

Which of the above statements is/are 
incorrect?

1 only(a) 

1 and 2 only(b) 

2 and 3 only(c) 

1, 2 and 3(d) 

 Consider the following statements:    42. 
Mediterranean regions were inhabited 1. 
from early periods in history due to their 
pleasant climate.
Northern plains in India are among the 2. 
most densely populated areas of the 
world.

Which of the above statements is/are correct?  
1 only(a) 

2 only(b) 

Both 1 and 2(c) 

Neither 1 nor 2(d) 

 What does the term ‘longevity dividend’ 43. 
mean?

The economic and health benefi ts that (a) 
would accrue to individuals and society 
when the ageing process is slowed down.
The social impact of the increasing aged (b) 
population on the society at large.
The effect of high population growth (c) 
with the subsequent increase in aged 
population.
Both (b) and (c)(d) 

 Which of the following terms connote the 44. 
opposite meaning of the term ‘Population 
Ageing‘?

Sub-replacement fertility(a) 
Pensions crisis (b) 
Demographic Dividend(c) 
Demographic trap(d) 

National Commission on Population is headed 45. 
by which of the following entity?

President(a) 

Prime Minister(b) 

Registrar General of India(c) 

None(d) 

Which of the following statements is/are correct 46. 
regarding the Census of India Act, 1948?

Under this act central government can 1. 
ask for service of any citizen for census 
work.
Every citizen of a country has to 2. 
compulsorily answer the questions as a 
part of census truthfully and honestly.
It has provision for penalties for not giving 3. 
answers to the census questionnaire.

Select the correct answer using the code given 
below:

1 and 3 only(a) 

2 only(b) 

3 only(c) 

1, 2 and 3(d) 

The “Basic Needs Approach” to human 47. 
development was initially proposed by the 
International Labour Organisation (ILO). 
Which of the following statements is correct 
about “Basic Needs Approach”?

Higher the level of income, the higher is (a) 
the level of human development.

People should be made participants (b) 
in development not only its passive 
recipients. 

Building human capabilities in terms of (c) 
knowledge and basic capabilities.

Ignoring human choices and fulfi lling (d) 
basic needs of defi ned sections.

Consider the following statements:48. 
Ecumene refers to the uninhabited or 1. 
uninhabitable area of the world.
Non-Ecumene refers to the inhabited 2. 
areas or very sparsely inhabited areas of 
the world.

Which of the above statements is/are 
incorrect?

1 only(a) 

2 only(b) 

Both 1 and 2(c) 

Neither 1 nor 2(d) 


